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QUESTION 1

A network administrator wants servers to avoid spanning-tree convergence immediately after connecting to a leaf
switch. Which spanning-tree feature would allow this?

A. spanning-tree vlan priority O
B. spanning-tree port-type disabled
C. spanning-tree port-priority 0 D. spanning-tree port-type edge

Correct Answer: D

QUESTION 2

How are multiple hardware based ACLs filtered?
A.NTP

B. DHCP

C.NPU

D.IP

Correct Answer: C

Reference: https://www.dell.com/support/manuals/us/en/04/networking-z9264f-on/os10-enterprise-user-
guide-10_4_2-pub/access-control-lists?guid=guid-c220a14f-c6cb-4950-ba88-15cbd59316aaandlang=en-us

QUESTION 3

On what does PBR base routing decisions?
A. Dijkstra Algorithm

B. Batch traffic

C. Administrator-defined forwarding

D. Shortest path

Correct Answer: C

QUESTION 4

A network administrator enters the BGP command neighbor 10.0.2.1. The BGP router does NOT have any route to the
10.0.2.0 network. What will happen?
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A. The router will form a successful adjacency with its 10.0.2.1 neighbor. The BGP state will be listed as connect.

B. The router will not form a successful adjacency with its 10.0.2.1 neighbor.

C. It will send gratuitous ARP messages to attempt to discover a route to its 10.0.2.1 neighbor.

D. It will send an ICMP packet to attempt to reach its 10.0.2.1 neighbor.

Correct Answer: B

QUESTION 5
Router (Area 0.0.0.0)
Link ID ADV Router Age Seq#
10.0.1.1 10.0.1.1 1411 0=800000D5
10,0212 10.0.1.2 320 0=800000D2
10.D.2.2 10.0.2.2 1130 0=xB800000CF
Network (Area 0.0.0.0)
Link ID ADV Fouter Age seg#
192.168.100.3 10.0.2.2 1268 0=800000CD
192.168.200.3 10.0.2.2 1130 0=800000CD
Type-5 AS External
Link ID ADV Router Age Seqg#
10.0.1.1 10.0.1.:1 1175 0=80000001
144.254.32.0 10.0.1.1 1175 0=80000001
144.254.33.0 10.0.1.1 L1175 0=x80000001
152.168.37.0 10.0.1.1 1050 0=80000001
192.168.100.2 10.0.1.1 1175 0x80000001
83 (config-router-ospf-1)¢ B
Refer to the exhibit.
The output shown is from which command?
A. S3(config-router-ospf-1)# show ip ospf database
B. S3(config-router-ospf-1)# show ip ospf topology
C. S3(config-router-ospf-1)# show ip ospf Isa
D. S3(config-router-ospf-1)# show ip ospf statistics
Correct Answer: A
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